+/- |, Difference of |

Basic Facts Students Wil Master by Second Grade

[+0= [+l= 2+= 3+= H+=
O+l= [+2= [+3= [+H4=
I-l= 2-l= 3-2= 4-3= 5-4=
I-0= 3= H-|= 5-1=
+/- 0, Difference of O Sums/Differences of 10
0+0= [2+0= |3+0= 4+0=  |5+0=
0+2=  |0+3= O+4=  |0+5=
0-0= |2-2= |[3-3= 4-Y= 5-5=
2-0= |3-0= 4-0= |5-0=
+/- 2, Difference of 2
2+2= |3+2= 3+40= |4+0= [5€0= |6+0= |7+0=
2+3= I0+3=  [IO+4= |l0+B= [I0+6= |IO+7=
4-2=  |5-3= 3-3= |H-4= [5-5= |lb-6= |[7-7=
[3-0= [4-I0= |5-10= |le-0= |[7-0=
&+H0=  [9+I0=
Doubles 0+8=  |l0+9=
7+7= 8+8= 9+9=  |I0+0= 8-8= |I9-9=
12-6= [H-7= |l6-8= |I8-9= |20-I0= I8-10=  (I9-I0=
Doubles +/- | Doubles +/-2
S+6= o+/= 7+8= &+9= S5+7= 6+8= 7+9=
6+5= 7+6= 8+7= 9+8= 7+5= 8+o= 9+7=
3-6= |I5-7= [I7-8= 2-5= [H-6= |l6-7=
3-7= [5-8= |[7-9= 2-7= [H-8= |l6-9=
Key:
Bridge to 10 LAST FACTS Basic Facts
3+8= H+7= 3+9= H+8= H+9=  |5+8= 5+d=  |6+9=
8+3=|7+#4=  [9+3= |B8+H= [GH4= |8+B= |9+B= [9+6= Kindergarten Facts to 5
I-3= I-4= 2-3= |2-4= [3-4= |I3-5= [H4-5= |I5—6-
-8= [I-7=  [2-9= |2-8= [3-9= [3-8= [4-9= |[5-9- Second Grade Facts 10-20




